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2N 230z
M 2oos ds
&??: 2T A 2E (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
E 30l =t 32,165,849 33,516,282 A 1,350,433
= 2,365,180
s 1,500,000
J| 2,007,865
< 4,084,920
Al 22,207,884
s &S 9,191,805 7,391,793 1,800,012
s 1,500,000
J| 1,684,765
< 1,018,364
Al 4,988,676
23T A 24 3,241,530 2,005,530 1,236,000
s 1,500,000
< 450,000
Al 1,291,530
SOtAIOI2S S Al B ESAMY 145,500 145,500 0
307 glz2tol & 145,500 145,500 0
02 B AAHEX 145,500 145,500 0
OSO0tAIOIZ3 Al WF ALY
150,000,000& * 97% 145,500
Fs)s0 24 6,790 6,790 0
307 21201 A 6,790 6,790 0
02 HIAHFAAHFEX 6,790 6,790 0
O&HASII=0l B 7,000,000& = 13| = 97% 6,790
HEFd=sR 3¢ 7,760 7,760 0
307 glz2tol & 7,760 7,760 0
02 AtFAAFE X 7,760 7,760 0
OEZSFd=2 2 8,000,000& * 13 » 97% 7,760
KNS 23 (sHE)HAFH 63,050 63,050 0
307 gl2tol & 63,050 63,050 0
04 DIZHHALALSE E X 63,050 63,050 0
OXI S =23H(3HE) & A 65,000,000& * 97% 63,050
= AQ FHEse 8,730 8,730 0
307 2Iz2tol ™ 8,730 8,730 0
02 RIZFE MM E X 8,730 8,730 0
OAN=20235tetw 9,000,000& * 97% 8,730
= AL SHots A28 2 9,700 9,700 0
307 21201 A 9,700 9,700 0
02 QIZHE A ASE X 9,700 9,700 0
OFZE AUD SNE A28 X
10,000,000& * 97% 9,700
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25 230z
HH: 230z M=
e S3d=8EAI X (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OSAAILAIEHIIR RS EOM M
15,000& = 808 * 23| * 95% 2,280
Os2HE (BHs22=)
0,0008 » 208 = 95% 950
203 R F & 15,000 15,000 0
03 AIZH =X 2= X H| 15,000 15,000 0
OST0=HA 2= 9,000,000& 9,000
OXEE3I|ets FRFA 6,000,000& 6,000
307 212t0| & 95,060 95,060 0
04 SIZ2SHAAISH E & 95,060 95,060 0
O2Ax= ZSHol==AF XI& 98,000,000 * 97% 95,060
Xe250s X 30,000 6,750 23,250
201 LBt H]| 28,000 4,750 23,250
01 AP 22| H| 19,000 4,750 14,250
O2s0=4a% M 10,000 = 30000 * 95% 2,850
O230l=0 ZHAIIH M &
100,000& * 2000 * 95% 1,900
OZ2Z20I=sTZHME D=2 SIS
5,000,000& * 304 * 95% 14,250
02 2324 9,000 0 9,000
O2Z0lsZ2E 0sE 8A D12
250,000 = 12€ * 34 9,000
203 €2 F=&d| 2,000 2,000 0
03 Al ZHF=X AR = XIH| 2,000 2,000 0
O2S0=HA =& 2,000,000& 2,000
HEMNIHNAHA2XMOCA 60,000 48,000 12,000
= 18,000
Al 42,000
307 212t0| & 60,000 48,000 12,000
o 18,000
Al 42,000
04 SIZ2HSHAAISHE E & 60,000 48,000 12,000
OFF=XXNHNHSAANOCHA
60,000,000& * 13| 60,000
== 18,000
Al 42,000
A H2 I EA 40,000 40,000 0
o= 12,000
Al 28,000
307 QI2t0| & 40,000 40,000 0
& 12,000
Al 28,000
04 SIZ2SHAMAISHE E X 40,000 40,000 0
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M0 MO MO

stol=
stz &8
Stol= A X1 &

- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Ei HR=2
ORAA HEIIQLEH 40,000,000 = 13| 40,000
=} 12,000
Al 28,000
St M =2stA Zot 40,000 48,000 A 8,000
= 12,000
Al 28,000
307 2I2t0| & 40,000 48,000 A 8,000
= 12,000
Al 28,000
04 CIZ2tSHAPALS B X 40,000 48,000 A 8,000
oz M=std= HHA
40,000,000& * 13l 40,000
= 12,000
Al 28,000
=402 2 &K 30,600 30,600 0
& 8,100
Al 22,500
307 giztol A 30,600 30,600 0
& 8,100
Al 22,500
02 AI2tAAMAIE E =X 30,600 30,600 0
OsE240I"g= 2 30,600,000& = 13 30,600
= 8,100
Al 22,500
Hx==H dio=d 20,000 20,000 0
o 6,000
Al 14,000
307 212t0| ™ 20,000 20,000 0
= 6,000
Al 14,000
04 SIZ2HSHAMAISHE E X 20,000 20,000 0
OFF==2MESUHI=H 20,000,000 = 13| 20,000
& 6,000
Al 14,000
= AE2E Fe-Story HAEY 36,000 36,000 0
& 10,800
Al 25,200
307 2iz2to| & 36,000 36,000 0
== 10,800
Al 25,200
04 SIZ2ISHAAISH E & 36,000 36,000 0
OE=4828 'Fe-Story' HAEIE
36,000,000 = 13| 36,000
& 10,800
Al 25,200
SA2H OHE 40,000 13,095 26,905




2H: 230
M 20z s
& S3o=AM X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 12,000
Al 28,000
307 glz2tol & 40,000 13,095 26,905
< 12,000
Al 28,000
04 QIZFHALAIH 2 = 40,000 13,095 26,905
Os=¢3H M= 40,000,000 = 13l 40,000
< 12,000
Al 28,000
d= FAdEoS0==sH &0t 32,000 0 32,000
J| 5,000
< 12,000
Al 15,000
307 21201 A 32,000 0 32,000
J| 5,000
< 12,000
Al 15,000
02 B LAHEX 32,000 0 32,000
OX= FAFUZM==H It N2
32,000,000& * 13l 32,000
J| 5,000
= 12,000
Al 15,000
F=0=H 227,950 174,600 53,350
307 21201 A 227,950 174,600 53,350
04 QIZFHALAIH B = 227,950 174,600 53,350
oOFF0=H 235,000,000& = 13| » 97% 227,950
HAMUHEN 32 2 HEHAM 43,214 43,214 0
307 21201 A 43,214 43,214 0
04 DIZHHALALSE E X 43,214 43,214 0
OBRAMYEN 258 A
44,550,000& = 13| = 97% 43,214
0= =22 & 9,700 5,820 3,880
307 21201 A 9,700 5,820 3,880
04 QIZFHALAIH B = 9,700 5,820 3,880
OF=0=z=! olz=alo &
10,000,000 * 13 * 97% 9,700
EFARS & DG A 48,500 48,500 0
307 glz2+ol & 48,500 48,500 0
04 QIZFHALAIH B = 48,500 48,500 0
OFFAL & JIE&HA
50,000,000& = 13| * 97% 48,500

NHZAZAIZE 23t0=0= 3,880 3,880 0
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& S3o=AM X (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 3,880 3,880 0
04 DI2HHALALSE E X 3,880 3,880 0
OXNMZHEZAIZ 230z=nSR
4,000,000& = 13l = 97% 3,880
= 832020 EFHU3 29,100 27,645 1,455
307 21201 A 29,100 27,645 1,455
04 DIZHHALALSE E X 29,100 27,645 1,455
O&E=0{g0l &3S
30,000,000& * 13| » 97% 29,100
LR S 2O A 33,950 19,400 14,550
307 21201 A 33,950 19,400 14,550
04 QIZFHALAIH B = 33,950 19,400 14,550
OLdd=F AS ZOH A
35,000,000 = 13| * 97% 33,950
FEEF ZEZBIRDI 24,250 20,952 3,298
307 21201 A 24,250 20,952 3,298
02 HAFHAANGFEE 24,250 20,952 3,298
OFEHFF ZFESIIRDI
25,000,000& * 13| * 97% 24,250
EFA ASEZA ME B2H 3,880 3,880 0
307 glz2tol & 3,880 3,880 0
04 QIZFHALAIH E = 3,880 3,880 0
OBFANASZANAXNSZ2H
4,000,000& = 13l = 97% 3,880
S=SUZ0==H FFA HEUE 3,880 3,880 0
307 glz2tol & 3,880 3,880 0
04 DIZHHALALSE E X 3,880 3,880 0
OE=USM==H EFAMLU
4,000,000& = 13l = 97% 3,880
== DAl 1,940 1,940 0
307 gl2tol & 1,940 1,940 0
04 DIZHHALALSE E X 1,940 1,940 0
oOLEH 2,000,000& = 13| » 97% 1,940
| 2,425 2,425 0
307 glz2tol & 2,425 2,425 0
04 QIZFHALAIH 2 = 2,425 2,425 0
OH2H 2,500,000& * 13 * 97% 2,425
FFAA! dIFIFAUHMA 8,245 8,245 0
307 21201 A 8,245 8,245 0
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AL XA :EE)
5 - 4
SN BA(SA) - MRAY - BES e 2
NEEES 8,245 8,245 0
AN d==4UHA
8,500,000& = 13l = 97% 8,245
otz =Hl 8,245 8,245 0
8,245 8,245 0
ENNEEES 8,245 8,245 0
ot =M
8,500,000& = 13l = 97% 8,245
& A3l 19,400 14,099 5,301
19,400 14,099 5,301
ANHE X 19,400 14,099 5,301
=2E33UH3
20,000,000& = 13| » 97% 19,400
| &t 2,910 2,910 0
2,910 2,910 0
ENVEEES 2,910 2,910 0
ZH EOt 3,000,000& = 13| » 97% 2,910
& A HAZH 2,328 2,328 0
2,328 2,328 0
ANEE X 2,328 2,328 0
g3 HFAZHE ¥ 22
2,400,000& = 12l = 97% 2,328
2o L EE2S 3,880 3,880 0
3,880 3,880 0
AMNSEE 3,880 3,880 0
TEZLH Y EEZ
4,000,000& * 13 = 97% 3,880
= =289 & 8,245 8,245 0
8,245 8,245 0
AALE B X 8,245 8,245 0
gMots 28t g
8,500,000& * 13l = 97% 8,245
4,365 4,365 0
4,365 4,365 0
MNEEE 4,365 4,365 0
W 4,500,000& * 13l » 97% 4,365
& A 8,245 8,245 0
8,245 8,245 0
AP 2 X 8,245 8,245 0




2N 230z
M 2oos ds
& S3o=AM X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O&=0=83 3dd
8,500,000& = 13l = 97% 8,245
OtE&E= 2021 12,610 12,610 0
307 gl2tol & 12,610 12,610 0
04 DIZHHALALSE E X 12,610 12,610 0
OOtEdE = 2021 13,000,000 * 13 * 97% 12,610
SIS AL 3 4,365 4,365 0
307 glz2tol & 4,365 4,365 0
02 It M AMHEE 4,365 4,365 0
OISt MALMIHS 4,500,000 * 13 * 97% 4,365
Fz2 Ad=23 0=d 8,245 8,245 0
307 21201 A 8,245 8,245 0
04 QIZFHALAIH B = 8,245 8,245 0
oz =X 0l=sH
8,500,000& * 13| = 97% 8,245
HdIANNSE2H 19,400 13,580 5,820
307 glz2+ol & 19,400 13,580 5,820
04 QIZFHALAIH 2 = 19,400 13,580 5,820
OFF= Hd=Ad B22H
20,000,000& = 13| *» 97% 19,400
S=3d 23,499 23,499 0
307 gl2tol & 23,499 23,499 0
04 DIZHHALAISE E X 23,499 23,499 0
Ofx=H33H 24,225,000 * 13| » 97% 23,499
S=2H3H &t 3,880 3,880 0
307 glz2+ol & 3,880 3,880 0
04 QIZFHALAIH B = 3,880 3,880 0
Os=d=H &It 4,000,000& = 12l = 97% 3,880
AIAIH FOt 2,910 2,910 0
307 21201 A 2,910 2,910 0
04 QIZFHALAIH B & 2,910 2,910 0
O&=H=H &It 3,000,000& = 13| = 97% 2,910
EFIRAH 7,421 7,421 0
307 gl2tol & 7,421 7,421 0
04 DIZHHALALSE E X 7,421 7,421 0
O&FEFIIH 7,650,000& = 13| = 97% 7,421
I MGHI A 19,400 6,790 12,610
307 glz2tol & 19,400 6,790 12,610




2N 230z
M 2oos ds
& S3o=AM X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
04 DI2HHALALSE E X 19,400 6,790 12,610
OFF==HMEEH SN
20,000,000& = 13| *» 97% 19,400
St AU 3,395 3,395 0
307 glz2tol & 3,395 3,395 0
04 DIZHHALALSE E X 3,395 3,395 0
ostM3AZAMS  3,500,000& * 13 » 97% 3,395
365 HMABAHO EXl= 2t ANEH 33,950 43,650 29,700
307 glz2tol & 33,950 43,650 A 9,700
04 QIZFHALAIH E = 33,950 43,650 A 9,700
03652 HASHO SXl=s 23t Al =4
35,000,000& * 97% 33,950
dSCsHE 11,201 11,201 0
307 glz2tol & 11,201 11,201 0
02 It HAHE X 11,201 11,201 0
(OFSE=RRIRCI D[R 11,547,000& * 13| » 97% 11,201
== US0=H ot 5,646 5,820 A1T74
307 glz2tol & 5,646 5,820 A174
04 QIZFHALAIH E = 5,646 5,820 A174
Os=USsM==d It
6,000,000& * 13| * 97% * 97% 5,646
EEFAY U0 Ot 5,646 5,820 A174
307 glz2tol & 5,646 5,820 A174
04 DI2HHALAISE E X 5,646 5,820 A174
OsSE2EUZMEH &t
6,000,000& * 13l * 97% * 97% 5,646
A3 A 2,910 2,910 0
307 gl2tol & 2,910 2,910 0
04 DI2ZHHALALSE E X 2,910 2,910 0
OAt 3 A 3,000,000& = 13| » 97% 2,910
HdIAEZZEU3 7,857 8,730 AB73
307 glz2tol & 7,857 8,730 A873
04 QIZFHALAIH E = 7,857 8,730 AB73
OEIAN=ZEUHS
9,000,000& * 13l * 97% * 90% 7,857
HHEsu=HA 18,665 20,739 22,074
307 glz2tol & 18,665 20,739 22,074
04 DIZHHALALSE E X 18,665 20,739 N2,074




2N 230z
M 2oos ds
& S3o=AM X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHMEstol=H &
21,380,000& * 13l » 97% * 90% 18,665
SH s 1= 11,349 12,610 A 1,261
307 gl2tol & 11,349 12,610 A 1,261
04 DIZHHALALSE E X 11,349 12,610 A 1,261
oz &1 &
13,000,000& = 13| * 97% * 90% 11,349
0t g FAFAUE 10,476 11,640 A1,164
307 21201 A 10,476 11,640 A1,164
04 QIZFHALAIR B & 10,476 11,640 21,164
CEEEEIEEE
12,000,000 * 13| * 97% * 90% 10,476
d=sE A 10,782 10,782 0
307 21201 A 10,782 10,782 0
04 DIZFSHAIAIRI 2 = 10,782 10,782 0
oOtsE 2Nl 11,115,000 = 13| » 97% 10,782
FEFFHNAMU =UEILA 8,730 8,730 0
307 21201 A 8,730 8,730 0
04 DIZHHALALSE E X 8,730 8,730 0
OHEF=MOUItAES =0 A
9,000,000& = 12| = 97% 8,730
EFHFEISA 2,910 2,910 0
307 21201 A 2,910 2,910 0
04 DIZHHAFA I 2 X 2,910 2,910 0
OHEF=WFHItaIE  3,000,000& = 13l = 97% 2,910
SZHSEMMHE 3,880 3,880 0
307 21201 A 3,880 3,880 0
04 DIZHHALALSE E X 3,880 3,880 0
OSHSMMOUMAE  4,000,000& * 13 » 97% 3,880
HdF=20stE3H 7,760 7,760 0
307 glz2tol & 7,760 7,760 0
04 DIZFSHALAIRI 2 = 7.760 7,760 0
OF=Z¢2lat &@ald 8,000,000& * 13 * 97% 7,760
PaNEE A 2,910 2,910 0
307 glz2+ol & 2,910 2,910 0
04 QIZFHALAIH B = 2,910 2,910 0
OR&AMste 2/&A  3,000,000& * 12 = 97% 2,910
Jr=1t otelote & 2,910 2,910 0




2N 230z
M 2oos ds
& S3o=AM X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 2,910 2,910 0
04 DIZHSHALAIRI 2 = 2,910 2,910 0
©Jt=21t ot2lote &
3,000,000& = 13| » 97% 2,910
A USRI 11,175 12,416 AT, 241
307 21201 A 11,175 12,416 AT, 241
04 DIZHHALALSE E X 11,175 12,416 AT, 241
OMELISAH IR X
12,800,000& = 13| » 97% * 90% 11,175
FAagweottt FI|HF3) 2,910 2,910 0
307 21201 A 2,910 2,910 0
04 QIZFHALAIH B = 2,910 2,910 0
oZAEDFAS HIHFS
3,000,000& * 13 * 97% 2,910
F=UE0=H 87,300 48,500 38,800
307 21201 A 87,300 48,500 38,800
04 QIZFHALAIH B = 87,300 48,500 38,800
OFFUZM=H 90,000,000& * 13| » 97% 87,300
Ol=&E JI8d 4,850 3,492 1,358
307 21201 A 4,850 3,492 1,358
04 DIZHHALALSE E X 4,850 3,492 1,358
oll=s&3J18A 5,000,000& = 13l = 97% 4,850
2 A28 3,880 3,880 0
307 gl2tol & 3,880 3,880 0
04 DIZHHALALSE E X 3,880 3,880 0
OE Acl=2¥ 4,000,000& = 13| = 97% 3,880
AMEEZHAIZ 3,880 3,880 0
307 glz2+ol & 3,880 3,880 0
04 QIZFHALAIH 2 = 3,880 3,880 0
(OFNFSESE-FSPN -] 4,000,000& = 12| = 97% 3,880
AIEZSABZAME 3,880 3,880 0
307 21201 A 3,880 3,880 0
04 QIZFHALAIH B = 3,880 3,880 0
OoZgetENENA
4,000,000& * 13l * 97% 3,880
= 3,880 3,880 0
307 glz2+ol & 3,880 3,880 0
04 QIZFHALAIH B = 3,880 3,880 0
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M 2oos ds
& S3o=AM X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
os=sH% 4,000,000& = 13| = 97% 3,880
A 3tok3td 0l 4,850 4,850 0
307 glz2+ol & 4,850 4,850 0
04 QIZFHALAIRIE X 4,850 4,850 0
OF3t0otItH0l 2%  5,000,000& * 13l = 97% 4,850
FFUEIE0Y 3,880 3,880 0
307 21201 A 3,880 3,880 0
04 QIZFHALAIR B = 3,880 3,880 0
OHFR==80tE  4,000,000& = 13l = 97% 3,880
FA A A 7,760 3,880 3,880
307 2201 A 7,760 3,880 3,880
04 DIZFSHAIAIRI 2 = 7,760 3,880 3,880
OFAAZHE: AL 8,000,000& = 13| = 97% 7,760
dS=23 M0t 4,365 4,365 0
307 glz2tol & 4,365 4,365 0
04 QIZbSHAIAIRI 2 = 4,365 4,365 0
OdEZstHEsore
4,500,000& = 13l = 97% 4,365
2cllts 78 2HME 9,700 9,700 0
307 gl2tol & 9,700 9,700 0
04 DIZFSHAIAII 2 = 9,700 9,700 0
Oxclls FRE 22MHME
10,000,000& * 13| * 97% 9,700
Ot Ssti=gs YL3=2 46,560 46,560 0
307 21201 A 46,560 46,560 0
04 DIZHHALALSE E X 46,560 46,560 0
OO0l 2stll=gs L2322
48,000,000& = 13l = 97% 46,560
HFE2YES ottt 14,550 14,550 0
307 21201 A 14,550 14,550 0
04 QIZFHALAIH B & 14,550 14,550 0
OFESYEES ottt
15,000,000 * 13 * 97% 14,550
FF0USM=0Hs 2,910 2,910 0
307 glz2+ol & 2,910 2,910 0
04 QIZFHALAIH B = 2,910 2,910 0
OFFoUEW=2U3
3,000,000& * 13 * 97% 2,910
=842 &X 271,600 271,600 0
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 271,600 271,600 0
04 DI2HHALALSE E X 271,600 271,600 0
OFFSH2&X 280,000,000 * 13 * 97% 271,600
E=E3d SSU=MESEA XA 49,470 30,992 18,478
307 eIzl & 49,470 30,992 18,478
02 It M AHEE 49,470 30,992 18,478
OBFZ3d ZaHMEHAN X
51,000,000& = 97% 49,470
FdAE2sstw 29 15,520 15,520 0
307 glz2tol & 15,520 15,520 0
02 It M AHE X 15,520 15,520 0
oxsU2sED 2
16,000,000& * 13| *» 97% 15,520
guwz 343 7,760 7,760 0
307 gl2tol & 7,760 7,760 0
04 DI2ZHHALALSE E X 7,760 7,760 0
oguwz <43l 8,000,000& = 13| = 97% 7,760
HE=H 60,000 40,000 20,000
< 30,000
Al 30,000
307 glz2+ol & 60,000 40,000 20,000
< 30,000
Al 30,000
04 QIZFHALAIH E = 60,000 40,000 20,000
O¢SENM 60,000,000 = 13l 60,000
< 30,000
Al 30,000
24 HAsSEeH 40,000 40,000 0
< 20,000
Al 20,000
307 21201 A 40,000 40,000 0
< 20,000
Al 20,000
04 QIZFHALAIH B = 40,000 40,000 0
OR4HE AXNRS2sHMH  40,000,000& = 12 40,000
= 20,000
Al 20,000
Ol 2AMEW Lise Hd&2s0=H 40,000 40,000 0
< 20,000
Al 20,000
307 gl2tol & 40,000 40,000 0
< 20,000
Al 20,000




Z30l =t
=stoles &8
Stz AL X
= - - SHE|
SN FHE - B(SA) - MEAY - BHES e
04 DI2HHALALSE E X 40,000 40,000
OO0IZAtE L Uz d&Z5t0=H
40,000,000& * 13l 40,000
< 20,000
Al 20,000
HYAA ECIEA 19,400 19,400
307 glz2tol & 19,400 19,400
04 DIZHHALALSE E X 19,400 19,400
OHLAHAl EcIHA
20,000,000& = 13| » 97% 19,400
HEEU MZ2EY HAEEY 280,000 280,000
< 140,000
Al 140,000
307 2201 A 280,000 280,000
< 140,000
Al 140,000
04 DIZHHALALSE E X 280,000 280,000
oOFYU M=EY H2AEHY
280,000,000& * 12l 280,000
< 140,000
Al 140,000
FFSHI2 X018 HIs823 69,840 69,840
307 giz2tol & 69,840 69,840
04 QIZFHALAIRH B &= 69,840 69,840
OFF=542&XIE HIAS23
72,000,000 * 13l » 97% 69,840
SESA3 85,554 85,554
307 21201 A 85,554 85,554
04 QIZFHALAIH B = 85,554 85,554
osdEs%3 88,200,000& = 13| » 97% 85,554
ZUsE FASAH 60,000 60,000
< 30,000
Al 30,000
307 21201 A 60,000 60,000
< 30,000
Al 30,000
04 DIZHHALALSE E X 60,000 60,000
O3ustg AN 60,000,000& * 13l 60,000
< 30,000
Al 30,000
M BY HRAME2ANME 43,650 43,650
307 I+l & 43,650 43,650
04 DIZHHALALSE E X 43,650 43,650




M0 MO MO

o=

tol toi ton

= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
ONEFEY ASGAHEZANE
45,000,000& = 13l = 97% 43,650
EFABSAE 29,100 29,100 0
307 gl2tol & 29,100 29,100 0
04 DIZHHALALSE E X 29,100 29,100 0
OFFA2US A3 30,000,000 * 13 * 97% 29,100
EF0BS g H=EEUSAE 50,000 50,000 0
< 25,000
Al 25,000
307 glz2+ol & 50,000 50,000 0
< 25,000
Al 25,000
04 QIZFHALAIH E = 50,000 50,000 0
OH=ET RS A3 50,000,000 = 13l 50,000
< 25,000
Al 25,000
4= HAE 89 2FRE2 31,300 31,300 0
< 10,000
Al 21,300
307 21201 A 31,300 31,300 0
< 10,000
Al 21,300
04 QIZFHALAIE B = 31,300 31,300 0
OX2 HAW 8o 232
31,300,000& * 13l 31,300
< 10,000
Al 21,300
2l Mot AMESAE 38,853 43,170 A4,317
307 21201 A 38,853 43,170 N4,317
04 QIZFHALAIH B = 38,853 43,170 A4,317
OAI2IL S Motes MESSE
44,505,000& * 18] = 97% * 90% 38,853
2l Mot s Y3 49,470 49,470 0
307 glz2tol & 49,470 49,470 0
04 QIZFHALAIH E = 49,470 49,470 0
OAlI2I Dt BNdt=E 823l
51,000,000& =* 13 * 97% 49,470
A AEsd 2F2 8,730 8,730 0
307 glz2tol & 8,730 8,730 0
04 DIZHHALALSE E X 8,730 8,730 0
oxLH MBS T2
9,000,000& = 13l = 97% 8,730
==0l 38,800 38,800 0




2H: 230
M 20z s
& S3o=AM X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 38,800 38,800 0
04 DI2HHALALSE E X 38,800 38,800 0
oHsE =0l 40,000,000& * 13l = 97% 38,800
Ss23 31,040 31,040 0
307 eIzl & 31,040 31,040 0
04 QIZFHALAIH E = 31,040 31,040 0
OJtssdsl 32,000,000 * 13 * 97% 31,040
SEMHAEY 35,357 39,285 A 3,928
307 21201 A 35,357 39,285 A 3,928
04 QIZFHALAIH B = 35,357 39,285 A 3,928
OFSHEHAEIZE M=
40,500,000& * 13| = 97% * 90% 35,357
AL EZ3Ho =& A 32,300 32,300 0
< 32,300
307 glz2+0l & 32,300 32,300 0
= 32,300
04 QIZFHALAIH B = 32,300 32,300 0
OXZ=s=a8AMN NA(ES2AMHIS)
32,300,000& = 13l 32,300
< 32,300
Helsd(HAad)adst 30,000 0 30,000
201 Let24E] 10,000 0 10,000
03 A2 I 10,000 0 10,000
Os=2s & SETHUH S 10,000, 000& 10,000
301 LeEAF 20,000 0 20,000
09 &AL HIXI &3 20,000 0 20,000
ONelE¢HI & EHE 20,000,000& 20,000
Zstolzs ¢ XA 688,544 657,354 31,190
FF0Es 23 N 120,042 104,350 15,692
307 21201 A 120,042 104,350 15,692
02 It S AIHE L 6,790 6,596 194
OF=0=A &2t 7,000,000& = 13l = 97% 6,790
03 BIAHNHE2IHIEE 113,252 97,754 15,498
oOFFMHE 234 116,754,000& * 97% 113,252
Fxogos 22 N 63,998 79,032 A 15,034
307 21201 A 63,998 79,032 A 15,034
02 QB AAHEX 4,850 27,888 223,038
OFS=AII2 0 A &2t
5,000,000& = 13l = 97% 4,850




2H: 230
M 20z s
el 23tz A XA (cho &)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
QI HEE2HHEX 59,148 51,144 8,004
OFFLMHS 24l 61,612,000& * 96% 59,148
E=E3d 22X 268,476 241,674 26,802
307 glz2+0l & 268,476 241,674 26,802
02 HAHFHAANGFEX 130,756 122,220 8,536
OHF=23EAM &2t
25,000,000& * 13| * 97% 24,250
O¥==2sts0tel MY
80,000,000& * 97% 77,600
oXg=2statn X&
10,000,000 * 13| * 97% 9,700
OFEALIS 918 DYAX WAZ FF
19,800,000 * 13| * 97% 19,206
QI HBEER2HHEX 137,720 119,454 18,266
OH==2std 249Hl XN 137,720,000& 137,720
g3 23 232,730 229,000 3,730
2 EL2 H Y| 7,430 0 7,430
S22l 7,430 0 7,430
OFstodd A= KA E=H 7,430
OFF22AZY 2 4,930
- ¢l B 22~ (3mm) 60,0003 = 43m’ 2,580
-2 3 At 2,350,000& 2,350
OsHE =228 2 2,500,000& 2,500
QI2tol & 224,000 222,000 2,000
05 BIZHRIE 3 224,000 222,000 2,000
OF=E3od 29 112,000, 000& 112,000
Os4E3od 2¢ 112,000, 000& 112,000
AHEES S H| 1,300 7,000 A5,700
01 XAt = ZH S| 1,300 7,000 A5,700
Os4 =23t 2MAMEIl 1,000,000&  1CH 1,000
OE4YEstdd FADI 300,000& * 1CH 300
¥ Sd XA 3,298 3,298 0
307 21201 A 3,298 3,298 0
02 HAFLAANHEX 3,298 3,298 0
Olz=3& <all XN
3,400,000& * 13 * 97% 3,298
bl B ¢ ds 7,001,998 10,596,693 A 3,594,695
= 2,315,180
J| 323,100
< 1,331,556
Al 3,032,162




2H: 230
IM: HESH BE L M
el 25 BEB (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oM BE22 3,766,220 7,469,100 A 3,702,880
= 1,799,780
< 776,740
Al 1,189,700
SNNE 2SN E+FH (D220 & B=) 22,400 0 22,400
= 15,680
< 3,360
Al 3,360
401 Al HI X 2018 22,400 0 22,400
= 15,680
< 3,360
Al 3,360
01 A& HI 22,400 0 22,400
O N2 g8 E 22,400,000& 22,400
= 15,680
< 3,360
Al 3,360
2NN SN E-FH (4G gz = 5 300,000 0 300,000
Adl)
= 210,000
< 45,000
Al 45,000
401 Al HI K 201 300,000 0 300,000
= 210,000
< 45,000
Al 45,000
01 A& Hl 300,000 0 300,000
OaEity E&Z28 == HHd|l 300,000,000& 300,000
= 210,000
< 45,000
Al 45,000
ZIKNE 23 M E-FU(EGAX EXNOHY) 750,000 0 750,000
= 525,000
< 112,500
Al 112,500
401 Al HIZ 201 8] 750,000 0 750,000
= 525,000
< 112,500
Al 112,500
01 Al gl 750,000 0 750,000
OEHY AKX EX0H 750,000,000 750,000
= 525,000
< 112,500
Al 112,500
INNE 23 E=FUI(2M SAHR LAY HE 60,000 0 60,000
AX)
= 42,000
< 9,000




25 230z
Hu: HERH BE U M
. 23 &2 (e H)
o
S BB (3AH) - B A %Eﬁ HR=2
Al 9,000
201 LBt Y| 4,000 4,000
= 2,800
= 600
Al 600
01 AP 22| H| 4,000 4,000
OYAIEEX AXE 4,000
= 2,800
& 600
Al 600
401 Al HI L E0HHI 56,000 56,000
= 39,200
= 8,400
Al 8,400
01 Al& H| 56,000 56,000
O—YAIE HE AX 56,000
= 39,200
& 8,400
Al 8,400
2N S ELHH (M 2012 S MEfA 100,000 100,000
)
= 70,000
=} 15,000
Al 15,000
308 MXISHMSOIA 100,000 100,000
= 70,000
= 15,000
Al 15,000
1 2BI2SHUsHEAA 100,000 100,000
OEM 2ol2 S T
100,000, 000& 100,000
= 70,000
o= 15,000
Al 15,000
ZIKNE2M ELTH (M AFS ,200,000 1,200,000
UnE AY)
= 840,000
& 180,000
Al 180,000
403 XX SHS K20 & ,200,000 1,200,000
= 840,000
= 180,000
Al 180,000
02 BIJI2S0HUtHeE =S ,200,000 1,200,000
OZM AMEH Ex=3A
,200,000
= 840,000
& 180,000




2N
X ZH -
L= B
el

HO 2 MO
for ot
FD

(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
| T 780000
2 XNE28 M ELEH(HEM M=K JI2HE 50,000 0 50,000
~a)
= 35,000
= 7,500
Al 7,500
207 I & 50,000 0 50,000
= 35,000
&< 7,500
Al 7,500
01 A& | 50,000 0 50,000
OYEM MM =& JI2HE =8
50,000,000 50,000
= 35,000
= 7,500
Al 7,500
2N HE 2 BELAH(B=2 sUS & Axel 19,570 18,000 1,570
2HUR X2)
= 13,700
= 2,935
Al 2,935
401 AlEHIZL 2 0HY| 19,570 18,000 1,570
= 13,700
== 2,935
Al 2,935
01 Al&H| 19,570 18,000 1,570
odAIIEYE BExX2(2=2 SUR)
8,570,000& 8,570
= 6,000
& 1,285
Al 1,285
OFMAIIEES BLXNS (MM 2UULR)
11,000,000& 11,000
= 7,700
& 1,650
Al 1,650
23 LB A H| 100,000 39,000 61,000
= 48,400
& 25,800
Al 25,800
1T AIEH Y 20b] 100,000 39,000 61,000
= 48,400
== 25,800
Al 25,800
01 Al&H| 100,000 39,000 61,000
OXHE 23t ot My 100,000,000 100,000
= 48,400
=} 25,800
Al 25,800




2N
X ZH -
L= B

el

230l = ot
HE2S BE L S
Z3M 2&E2e

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
SXNE=Z3M E=&H| 712,814 2,301,000 A 1,588,186
< 335,020
Al 377,794
201 £B-2d| 1,200 1,200 0
= 564
Al 636
01 At 22/l 1,200 1,200 0
Ozt 20 &=k =¢
1,200,000& 1,200
S 564
Al 636
401 Al I 28I 711,614 2,278,800 A 1,567,186
< 334,456
Al 377,158
01 A& HI 707,255 2,270,670 A 1,563,415
O&= At B BE&EHC 42,000,000& 42,000
< 19,740
Al 22,260
O AN S+ A=5E= 83,000,000& 83,000
< 39,010
Al 43,990
O3= z=Z¥L AMTH XNSEx 72,290,000 72,290
< 33,976
Al 38,314
OF+= SEEZEHIOIZEEZANEE NESE+
22,530,000& 22,530
< 10,589
Al 11,941
O&elx RA I AMEH 828 5 BEEH
22,300,000& 22,300
< 10,481
Al 11,819
O =4ZY UHWaE E= 174,380, 000& 174,380
< 81,959
Al 92,421
OF=F YNSLIH MFEES 50,240,000 50,240
< 23,613
Al 26,627
O&F = Gt AN HIZHE =HEFHI 17,250,000& 17,250
< 8,108
Al 9,142
O 2ogu FHEYI 41,870,000& 41,870
< 19,679
Al 22,191
O&F=ew =HHH 52,690,000& 52,690
< 24,764
Al 27,926
O MM FHEYI 20,000,000& 20,000




2N 230z
Hu: HERH BE U M
el 223 2E2e (=& J)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
< 9,400
Al 10,600
O=F2o 24t =HFH 51,500,000& 51,500
< 24,205
Al 27,295
OF= HEAN HEES 42,764,000 42,764
= 20,096
Al 22,668
OZXNEEZsM B0l A2+ 14,441,000& 14,441
< 6,787
Al 7,654
03 A& =TI 4,359 8,130 A3, 771
OEXNEEZM ETHAY 20
4,359,000 4,359
< 2,049
Al 2,310
N2 =I0t01g D] 68,085 0 68,085
< 32,000
Al 36,085
401 Al B2 28I 68,085 0 68,085
< 32,000
Al 36,085
01 A& HI 68,085 0 68,085
OQ3MA (=Y RSIX,2Fel 2o, =8l 2Dt
) 68,085,000& 68,085
< 32,000
Al 36,085
ERA STl 315,000 315,000 0
401 Al Bl 28I 315,000 315,000 0
01 A& HI 315,000 315,000 0
OSERA otliet 84X 1,500,000& * 109H £ 15,000
OSERH B4(130 8¢ L 1501 &)
300,000,000 300,000
A LHZA 50,000 50,000 0
207 A RO H| 50,000 50,000 0
01 289 50,000 50,000 0
0342 LHZAH(3EX) 50,000,000& 50,000
SNE=ZS 454 18,351 130, 100 A 111,749
< 8,625
Al 9,726
401 Al HI & 28I 18,351 130, 100 A 111,749
< 8,625
Al 9,726
01 A& HI 18,151 129,200 A 111,049




2N
X ZH -
L= B

el

230l = ot
HE2S BE L S
Z3M 2&E2e

= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
OF= CtM At HIZ2X™ 2SS (&0l 2LIH
a) 18,151,000& 18,151
= 8,531
Al 9,620
03 Al S THHI 200 900 A700
OZXNEZsM LESLIAY 200,000& 200
= 94
Al 106
T 2H A2 1,837,206 1,661,477 175,729
= 153,400
J| 297,100
< 243,605
Al 1,143,101
ZMAIE 2 530,802 500, 147 30,655
101 14 dl 237,515 235,044 2,471
4 D12t ZE2XREES 237,515 235,044 2,471
O=sMAlE &3 &l 237,515
OJles 61,040& = 15 * 262 * 93 214,251
O=ggd= 214,251,000& * 4.5% 9,642
(OFal k= 214,251,000& * 3.335% 7,146
OEINQYSH 7,146,000& * 10.25% 733
OnE:d 214,251,000& * 1.65% 3,536
OuTHEH 214,251,000& = 1.03% 2,207
201 Let2d] 293,287 246,683 46,604
01 At 22l 125,567 88,531 37,036
OHSHAL HMEMZ
1,000,000& * 4 A = 23] = 95% 7,600
OZsMHAIE 2eES
2,050,000& * 7IHA = 95% 13,633
O MAIE EE2=23
500,000& » 3&Z * 7ML * 95% 9,975
ogRHHL+£2 41,045
O3 MAE CCTV SXE=
1,300,000& » 10JH A = 95% 12,350
O3 MA4E A
140,000 = 502 + 128 » 95% 7,980
O3 MAE =ZEZAM
300,000& = 2IH2 * 43| * 95% 2,280
OZ23MAME Hotx H4
315,000& * 702 * 95% 2,095
O3 MAE SH3 Fa
500,000& = 30HA * 23 * 95% 2,850
OZ23MANE HAY &5
1,000,000& = 5JH 4 = 95% 4,750
OSEZ=23M Iz d
80,000& * 22004 * 95% 1,672




2N 2EeD
HH: HESH BE L M3
Sl 2ET 2 ANERY CERED
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl D= 2t
OdgNd S188 S+ ALANE B2
420,00020 * 1228 * 95% 4,788
OSBMESK WEAAL 22|
200,000%0 * 128 * 95% 2,280
CEEEE I EF
120,009 * 8% * 23| * 95% 1,824
OSSMTEI BXNEAN HES
10,0002 * 2% * 123l * 95% 2,280
OLESTS 2B YXE
2,400,008 * 128 * 95% 27,360
OUMBEIIED ESHY
23,000,002 * 95% 21,850
02 2B 167,720 158, 152 9,568
OSSMAIE HII23 91,800
Os gy 1,400,000 * 122 16,800
023 HEX 2,000,008 * 128 24,000
OET-LBIIEE:! 900,008 * 122 10,800
OuMBIIG B 1,000,008 * 122 12,000
OEFNBIIEE: 350,008 * 122 4,200
OHALZ2ARAFAIZ 900,008 * 122 10,800
OF=EsEY 400,008 + 122 4,800
Ost=4+oAE IR 200,008 * 122 2,400
ogzyH 300,0008 * 122 3,600
OHL2 L SE BOL 200,002 * 122 2,400
OSHMAL FIues 242
50,0008 * 44 * 122 2,400
OSHMAL YTHAILEY SH2
475,008 * 122 5,700
OSHMAE M54R3
40,0008 * 7HA * 122 3,360
OBHWESIIS(SAWEN LHE)
425,000% * 122 5,100
O2STHAIL FHII2|
1,4008 * 100L * 2H4 » 122 3,360
OSETMAIL UKl 8,000,008 * 744 56,000
SSTHAIE Fl 280,000 280,000 0
401 NEHIL 2T 280,000 280,000 0
01 Al bl 280,000 280,000 0
OSM FH TF22 L BORE
200,000,0002! 200,000
O2ASBMEN ALE 22 L 24
80,000,000 80,000
PHRH H4DSB 2Y 56,200 56,200 0
307 £12+0] & 56,200 56,200 0
05 2129 &t 3 56,200 56,200 0




2N
X ZH -
L= B

el

HO 2 MO
for ot
FD

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

35,000,000& = 10024
21,200,000& * 1JH A

56,200
35,000
21,200

= N W

32,500
13,000

5,850
13,650

22,500

10,000

307 21201 A

= M W

32,500
13,000

5,850
13,650

22,500

10,000

15,000,000&

17,500,000&

= M W

= MW

32,500

15,000
6,000
2,700
6,300

17,500
7,000
3,150
7,350

22,500

10,000

=INE =23 HHEXAE 2=

z M-

355,000
218,500
68,250
68,250

28,000

327,000

401 AIEHIZ 2 HYI

Jl

2l

Al

355,000
218,500
68,250
68,250

28,000

327,000

01 A& HI

O3 I=SEH HIIAME

©)
02

"
i
ton
=
x
P
He
0
M

75,000,000&

50,000,000&

SIIANE 2F
150,000, 000&

WAL D

80,000,000&

X

Al

Jl

m

Al

Jl

H

Al

Jl

= M

355,000

75,000
52,500
11,250
11,250
50,000
35,000

7,500

7,500

150,000
75,000
37,500
37,500

80,000
56,000
12,000
12,000

28,000

327,000




2N
X ZH -
L= B
el
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for ot
FD

4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ZINKNEESSM MG XAE A2 28,000 28,000 0
J| 19,600
& 4,200
Al 4,200
201 gEt24dy| 28,000 28,000 0
Dl 19,600
= 4,200
Al 4,200
02 E2=2=2%H| 28,000 28,000 0]
OMUEITHAIE SX 22 (CHAAL HEXM, D2
DEN AGARA) 28,000,000 28,000
J| 19,600
& 4,200
Al 4,200
2IIXNE 23 etA& A - B X 118,000 106,000 12,000
J| 59,000
= 21,830
Al 37,170
101 Q124 4| 118,000 0 118,000
J| 59,000
o 21,830
Al 37,170
04 JI2ZtHIZ22NEES 118,000 0 118,000
O3t ot AHBIE B4 118,000,000 118,000
J| 59,000
&< 21,830
Al 37,170
CXNAE2SM SMEH 2= 88,298 0 88,298
& 41,500
Al 46,798
401 AlEHIZL £ 0HY| 88,298 0 88,298
& 41,500
Al 46,798
01 Al&EH| 88,298 0 88,298
OFHZF= MMHSAIE CCTV & X 88,298,000 88,298
= 41,500
Al 46,798
C XA SHMHEH S A28 36,755 34,550 2,205
o=} 17,275
Al 19,480
201 et d| 36,755 34,550 2,205
= 17,275
Al 19,480
02 3%l 36,755 34,550 2,205
OEXAEZSIM YMAEH KA
36,755,000 36,755
o 17,275




2N
X ZH -
L= B

el

=

i
2m

Al

19,480

= M

30,851

14,500
16,351

29,000

1,851

307 21201 &

H

Al

30,851

14,500
16,351

29,000

1,851

o
N
=
e
(OS]
>
e
H
P

oo
N
oin
e
0>
w
o
o
1
o
)

©
0
(=]

18,085,000

©
oy
=]
Ho
1>
on
ne
0z
sl
o
Ho
10
09
EJ

12,766,000&

= M

= M

30,851

18,085

8,500
9,585

12,766

6,000
6,766

29,000

1,851

o
o
>
L]
lis
=
>
[>
0z
4
W

= N W

213,000
106,500
53,250
53,250

213,000

= N W

213,000
106,500
53,250
53,250

213,000

O=E At 133,000,000&

O& A 80,000,000&

= W

= N H

213,000

133,000
66,500
33,250
33,250
80,000
40,000
20,000
20,000

213,000

o

= N H

67,800
33,900
16,950
16,950

67,080

720

= N H

67,800
33,900
16,950
16,950

67,080

720

Mo
02
=

© o
2 0
F- om

=
[t

LHAAE SAB(SHLA S 1

67,800,000&

= W

67,800

67,800
33,900
16,950
16,950

67,080

720

ol
=
g
0o
He
0

Ho

AFXI &

1,398,572

1,466,116

AN67,544




2H: 230
Hu: HERH BE U M
&©?: 23 228 & HAXZ (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 362,000
J| 26,000
= 311,211
Al 699,361
=23t OFrd 400,000 400,000 0
= 124,000
< 67,900
Al 208,100
307 glz2+ol & 400,000 400,000 0
= 124,000
< 67,900
Al 208,100
04 QIZFHALAIH E = 400,000 400,000 0
©2021 = 23t OF A 400,000, 000& 400,000
= 124,000
< 67,900
Al 208,100
SWMNHE 23 2ESAY 395,000 500,000 A 105,000
= 158,000
< 81,661
Al 155,339
307 21201 A 395,000 500,000 A 105,000
= 158,000
< 81,661
Al 155,339
02 LAFAAFEX 395,000 500,000 A 105,000
OXFSFW(MEE RIS 22 IR0
200,000, 000& 200,000
= 80,000
< 41,400
Al 78,600
OUENMA(MNENE 245) 195,000,000 195,000
= 78,000
< 40,261
Al 76,739
HSLAL 28T AL 62,500 52,500 10,000
= 25,000
< 13,125
Al 24,375
307 glz2tol & 62,500 52,500 10,000
= 25,000
= 13,125
Al 24,375
02 It M AHEE 62,500 52,500 10,000
OZ3tAt 2EAE0 JI &5t 62,500,000& 62,500
= 25,000
= 13,125
Al 24,375




2N
X ZH -
L= B

el

stol=
E2s BE L &8
St 28 & HAKE

- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
MM 2STHAFS 137,500 112,500 25,000
= 55,000
& 31,625
Al 50,875
307 2Iz2to| & 137,500 112,500 25,000
= 55,000
= 31,625
Al 50,875
02 QI AAIE E X 137,500 112,500 25,000
OX=SEHN OIste & 72,500,000 72,500
= 29,000
=} 16,675
Al 26,825
ONAMZE BE= &8 EE 65,000,000 65,000
= 26,000
= 14,950
Al 24,050
NE 2SR A DFASY 52,000 50,000 2,000
J| 26,000
= 9,500
Al 16,500
307 2Iz2t0| & 52,000 50,000 2,000
Jl 26,000
o= 9,500
Al 16,500
02 DIZIEAAIE E X 52,000 50,000 2,000
O U= EF - &4=2A00 E=0I0kD]
52,000,000 52,000
J| 26,000
= 9,500
Al 16,500
2R S ALY 32,190 32,500 A 310
o=t 15,000
Al 17,190
307 2Iz2t0| & 32,190 32,500 A 310
o= 15,000
Al 17,190
02 DIZHAAAIRE E X 32,190 32,500 A 310
ONME AN MMUEY 32,190,000 32,190
& 15,000
Al 17,190
LAEZSM 85 NS 160,000 156,000 4,000
&< 80,000
Al 80,000
301 et A =2 160,000 156,000 4,000
&< 80,000
Al 80,000




25 230z
Y HES 2Z U B
Sl SHT BE U BAKE
- _ _ RE]
SN ED B (3H) - MEAY - BAS ol &k o8 %Eﬁ
12 JIEtE2 A= 160,000 156,000
P2 s K& 160,000, 000& 160,000
= 80,000
Al 80,000
SH2SMH 2HA IR 18,800 18,800
= 9,400
Al 9,400
307 QI2t0| ™ 18,800 18,800
= 9,400
Al 9,400
02 AI2tAAMAIE E =X 18,800 18,800
ORE 23 M SHEAF XA 18,800,000 18,800
& 9,400
Al 9,400
BHEtSE M T2 29 33,950 33,950
307 212t0| & 33,950 33,950
02 QI AAIE E X 33,950 33,950
OWAES M4 N T2 29
35,000,000& * 97% 33,950
HFEsod2d 3,880 3,880
307 QI2t0| ™ 3,880 3,880
04 CIZ2tSHALALS B X 3,880 3,880
OFFT=243AH 4,000,000 * 13| * 97% 3,880
st 43 s A 15,000 15,000
= 3,000
Al 12,000
307 2Iz2t0| A 15,000 15,000
o= 3,000
Al 12,000
02 DIZIEAAIE E X 15,000 15,000
OT-gHds =2 AN (EF=&1) 9,000,000 9,000
& 1,800
Al 7,200
OFEd3e WA (22sn) 6,000,000 6,000
= 1,200
Al 4,800
HFE&W SAEUH 9,700 9,700
307 2I2t0| ™ 9,700 9,700
04 SIZ2SHAAISHE E X 9,700 9,700
OFF&SNAHAAUA 5,000,000 * 23] * 97% 9,700
HFESW JzAH 7,760 7,760
307 2Iz2t0| & 7,760 7,760
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25 230z
M 2aE =4
el 2EAYSY CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 1,735,000
Al 14,063,454
=y 656,620 635,420 21,200
= 35,000
Al 621,620
HEAN GHI2FNMNYE =X 501,900 551,900 A 50,000
201 Bt 1,900 1,900 0
01 AP 22| H| 1,900 1,900 0
OYGAMESANYE EE2 L H=2
2,000,000& * 95% 1,900
308 AXIEHSOIA 500,000 550,000 A 50,000
112 2SUHUSHEAEAE AT Y| 500,000 550,000 A 50,000
OFMNBMY 43 =X 500,000, 000& 500,000
HEA WEHA QAL AA 73,720 73,720 0
307 2iz2to| A 73,720 73,720 0
02 QIZ2FA AAIE E X 73,720 73,720 0
OYIClD HTHEHA OlsAAdMALS
76,000,000& * 97% 73,720
StEYE CetitAHe 29 8,000 9,800 A 1,800
201 Bt 8,000 9,800 A 1,800
02 E2=2=24%H| 8,000 9,800 A 1,800
Ocetdt Hel dIls (24, d2XH)
60,0008 * 504 « 12& 3,600
OECtOF Hel &ot2=E 2 (2%)
100,000& = 10HA * 68 600
OEctor Hel SAl=eldl 3,800,000& 3,800
g2 -0l 243 ANSAY 73,000 0 73,000
& 35,000
Al 38,000
201 LBt | 3,000 0 3,000
02 2=2=24%4| 3,000 0 3,000
OfMES HOMEXI SXNEL(23MXE)
1,500,000& = 24 3,000
307 2iz2to| A 70,000 0 70,000
o=t 35,000
Al 35,000
02 QIZFA AAIE E X 70,000 0 70,000
otz Ol=2 243 XNIAALY
10,000,000 * 702 70,000
& 35,000
Al 35,000
23018t AlE &= 2,534,900 6,470,400 A 3,935,500
= 50,000




2N
X ZH -
L= B

el

(a4

HO MO Mo
tol toi ton

=
=

S
e
=
nx
O

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 300,000
Al 2,184,900
A2 SHE 245 X 15,000 15,000 0
402 2I2H X201 M 15,000 15,000 0
01 2I2E 2 A B (KR ) 15,000 15,000 0
OAMRIBAZTEHI (AEMNS )X
15,000, 000& 15,000
AFAEX, HASALE 2SHMAIS (L) 400,000 0 400,000
401 AIEHI L 2CHEI 400,000 0 400,000
01 A& HI 364,468 0 364,468
Od= s2&1 38 cl2EE 364,468,000 364,468
02 2feldl 28,764 0 28,764
O¥Z S2ZD BES 229
1,880,000,000& * 1.53% 28,764
03 Al =TI 6,768 0 6,768
O8Z S23D BES 229
1,880,000,000& * 0.36% 6,768
Aoty 2 =320ty 29X 1,200,000 1,200,000 0
< 300,000
Al 900,000
308 XXM SO0l A 1,200,000 1,200,000 0
= 300,000
Al 900,000
N 3JN2SUHUeBAHAE AR 1,200,000 1,200,000 0
OXgl|gty 2HE =320ty 29
1,200,000, 000& 1,200,000
< 300,000
Al 900,000
Folles SUS 243 500,000 500,000 0
308 XX EHH SOl 500,000 500,000 0
113/ 2SoHUHSZ&EEALS I 500,000 500,000 0
Os2&1 22 AHI(6,8,34,35,3658)
500,000,000& 500,000
=sttEas E3 2N 100,000 100,000 0
= 50,000
Al 50,000
308 A EHHSOIA 100,000 100,000 0
= 50,000
Al 50,000
113/ 2SoHUHSEHEAEALS I 100,000 100,000 0
OzstitEx BH 29 100,000, 000& 100,000
= 50,000
Al 50,000




2N
X ZH -
L= B

el

e

HO MO Mo
tol toi ton

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
2LEECOIOIEE 2Y 309,900 310,000 A 100
308 XAHXIEHSOIA 300,000 310,000 A 10,000
11 BI2SUHUSHEAEAE AT Y| 300,000 310,000 A 10,000
OL4+=8CSCel0l0tEE 24| 300,000,000& 300,000
405 XHAHFIEHI 9,900 0 9,900
01 XAt 2 E F S| 9,900 0 9,900
Odx=sCSt0IolEE 237¢Y 9,900
OANSREOXtH(AIRA) 300,000 = 204 600
O1el2A0H($=84) 500,000 = 2JH 1,000
OHolIE(£54l) 200,000 = 20 400
OMHIR (=R4l) 300,000 = 24 600
OUWEIE (84 150,000& * 24 300
OMSII 3,500,000€ = 2CH 7,000
23J|BHAI A 22 10,000 0 10,000
401 AlEHIZL £ 0HY| 10,000 0 10,000
01 Al&H| 10,000 0 10,000
O2FI|BAE RANEX 10,000, 000& 10,000
HFFHUSSIMYHT] =4 & 2H 4,687,000 4,109,800 577,200
HFFHUESIMHX 24 22,000 9,800 12,200
207 I & 22,000 9,800 12,200
01 A2 EHH| 22,000 9,800 12,200
OFFANSSINNYIENHS BIEI 29
22,000,000 22,000
HFEANSSIAMSHETHET SHZ 4,500,000 4,100,000 400,000
306 52 4,500,000 4,100,000 400,000
01 52 4,500,000 4,100,000 400,000
OFFANSIIMANENE EH3
4,500,000,000& 4,500,000
HFEUIBIIMNAAX] =2 165,000 0 165,000
401 AlEHIZL 201 Y| 165,000 0 165,000
01 Al&H| 165,000 0 165,000
O AASX =Z2(EX0HLH])
165,000,000 165,000
20234 7,969,934 4,191,013 3,778,921
= 1,400,000
Al 6,569,934
HZZ0 AL A =& (HEAS) 5,000,000 291,000 4,709,000
= 1,400,000
Al 3,600,000
307 212t0| & 5,000,000 291,000 4,709,000




2H: 230
M 254 84
el SN2sd (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 1,400,000
Al 3,600,000
02 IZtE M AHEE 5,000,000 291,000 4,709,000
©2021 =30tz A =&
5,000,000, 000& 5,000,000
< 1,400,000
Al 3,600,000
=302 24 1,129,000 1,129,000 0
307 glz2tol & 1,129,000 1,129,000 0
05 RIZHRI &t 3 1,129,000 1,129,000 0
ost=30& A2 1,129,000, 000& 1,129,000
30 2Sead 29 1,818,934 2,571,013 AT752,079
201 et 1,818,934 2,551,013 A732,079
02 =224l 1,818,934 2,551,013 AT732,079
O3023elAH 29 22/l
6,500& = 21,732m » 12& 1,695,096
O30 2eiAH 2 E9 123,838,000& 123,838
FFA BdsgAHe =4 22,000 0 22,000
207 RO 22,000 0 22,000
01 H2x 39l 22,000 0 22,000
O303&Hel =24 2129 22,000,000& 22,000
HE 2L L (2st0l=1t) 123,592 121,163 2,429
Jl=&l 121,480 121,163 317
Jl234 121,480 121,163 317
201 Let24dH] 74,500 63,548 10,952
01 At 2teltl 74,500 63,548 10,952
OJl2ddasdH(JIEZHl)
500,000& » 259 = 90% 11,250
ozgd(JIE34l)
8,000& » 33F = 8 « 12& » 90% 22,810
OLAHI(23t) 60,000& = 210 12,600
OYLAH (HHZH) 60,000& * 4% = 116¢ 27,840
202 oddl 36,000 46,695 A 10,695
01 SLHOIYI 36,000 46,695 210,695
©O0idl(JI=ZHI)
20,000 = 25 * 6 * 123 36,000
203 YR =&l 10,980 10,920 60
01 JI22E =8 6,000 6,000 0
OJIE%H (42) 6,000,000 6,000
04 RENSELRF=LH 4,980 4,920 60
OJIZF= A (33¢21) 415,000& = 12& 4,980




NENERE
A0 RN R EN
Klo
El
E=]
o () (@)
H3r
m<l
RS
NN
N RN RN RN N
aor
<
=
ol
Y
or >
0 n
Al WS
: <+
D oF =
=< n <
I+ o «
=z N o
. < ©
(o))
—~ = N
— = -
=~ = ®
iof a0
— =
mf_ S+ &
H
- T R A
Rl o |T =<
RO E=) J|) ©
. 8 | o | — | v
x |W|m|=]°
T T

ol




& AR E A A

20218 = 20 A LEHSH 230=l ~ 202
254 M=2nx
M AN HE AE
GHe: M2Eds 84 AH (e H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
HNEWsI 18,033,285 17,430, 391 602,894
Dl 1,044,788
= 265,999
Al 16,722,498
AMSIHE &E 14,212,170 14,090,212 121,958
J| 1,044,788
o= 265,999
Al 12,901,383
dEdE 84 I 9,955,958 10, 193,942 N 237,984
o= 120,000
Al 9,835,958
HEHE 4 - &9 2,084,849 2,143,586 NB8,737
201 et 9| 1,900 1,900 0
01 AP 2t 2] H| 1,900 1,900 0
oY M=o ZEIH M
100,000& * 2000 * 95% 1,900
203 €2 F=&d| 3,000 3,000 0
03 AIZH =& 2= XY 3,000 3,000 0
OUE HEHAIFA 3,000,000& 3,000
307 2Iz2t0| & 2,074,399 2,134,186 NB9,787
02 QIZFE AAIE 2 X 1,034,309 1,127,481 N93,172
O&FFC XN & 450,000,000 * 13| 450,000
OFFANM=EE X3 ALY 584,309
OB FA 24 SEHEX
120,000,000& = 13| * 97% 116,400
OHZAN SMMcT 2sEH
10,000,000& * 13 * 97% 9,700
OBFHNNKESAY X2
17,000,000& * 13 * 97% 16,490
Osszod=Us s&8XS
323,700,000& * 13 * 97% 313,989
OFd2HsUs s&8IA
50,000,000& = 13 * 97% 48,500
Od=24"H=0s s&8XS
25,000,000& = 13 * 97% 24,250
Od=2sAHM=Us s&8XS
5,000,000& * 13 * 97% 4,850
ONMH & d20s s&IA
9,280,000& * 13| * 97% 9,002
OLs=s4M LBASS0AEUHS SHXEH
2,400,000 & = 13| * 97% 2,328
OANZUHE SF0IEUE sS8AE 38,800
-M3238 = XA XA DEOt2tEH S
18,500,000 * 13| * 97% 17,945




AN HELSH

g MME &S

g4 d2Hs 84 XY (SH9: &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-H408 S=EAZUEY AHOAEAHS
21,500,000& = 13| » 97% 20,855
03 BIAHMNHE2IHIEE 1,040,090 1,006,705 33,385
OFFANHMES AARZ 29 1,040,090
OoJlzs 529,598,770& 529,599
O=% 175,525, 050& 175,526
OLEE=R == 136,701,360& 136,702
Og =&l 7,340,000& 7,340
OXR=H A H| 33,360,000 33,360
O=U0otl 10,400,000 10,400
Olis=¢¥ 1,886, 160& 1,887
OXEEENRAUE 15,570,000& 15,570
Oget3l 129,705,660& 129,706
402 RIZFXt20l ™ 5,550 4,500 1,050
01 Q12 X2 AF 2 2= (REXIXH &) 5,550 4,500 1,050
OFFANAM=ES MR=2 =257 X 5,550
Oz &=H 1,500,000& * 3CH 4,500
O Xt 70,000& = 54 350
O] 700,000& =« 1CH 700
EFAN 223UR SE8XA 145,000 0 145,000
308 XX EHH SOl 145,000 0 145,000
08 WEII20HStE X 145,000 0 145,000
OF=A 23U SEXNIA(SLH=)
145,000,000& * 13l 145,000
ALXE S& ANBEE 50,000 50,000 0
201 LB-2d| 50,000 50,000 0
01 At 2t 2l 50,000 50,000 0
OAZ=XE S8 AEEE 50,000,000& * 13 50,000
HEFEAMEI LAZEHLAWLS 7,760 7,760 0
307 g1+l & 7,760 7,760 0
04 QIZFHALAIH E = 7,760 7,760 0
OM37sl HFAEI L2ZEHLIAUE
8,000,000& = 13| = 97% 7,760
BFANBINMN=XNEESnESSUEAW 7,760 7,760 0
307 glz2tol & 7,760 7,760 0
04 DIZHHALALSE E X 7,760 7,760 0
OM29sl EFANEIXXN AN ES DS
w 403 8,000,000& = 13l = 97% 7,760
EAIEH S U3 9,700 9,700 0
307 gl2tol & 9,700 9,700 0




EM MERS
g MME &S

g4 d2Hs 84 XY (&)
. _ = SfE|
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 9,700 9,700 0
ON34sl HF=AIZH 22U
10,000,000& * 13| * 97% 9,700
EFANEI BHAE=WE 14,550 14,550 0
307 glz2tol & 14,550 14,550 0
04 DIZHHALALSE E X 14,550 14,550 0
OHM2458 E=AEI| EHAZU 2
15,000,000& * 13| * 97% 14,550
FFANEFI HEBUHESFAUS 17,460 17,460 0
307 21201 A 17,460 17,460 0
04 DIZHHALALSE E X 17,460 17,460 0
OHM233 HFAEIIXX HEUHEFIAUE
18,000,000& * 12| » 97% 17,460
EFANEI 2= 8,730 8,730 0
307 21201 A 8,730 8,730 0
04 QIZFHALAIH B = 8,730 8,730 0
OHM19a HF=AHEI 2=Us
9,000,000& * 13l * 97% 8,730
EFANZH =SS 7,760 7,760 0
307 glz2tol & 7,760 7,760 0
04 QIZFHALAIH B = 7,760 7,760 0
OXN182 HFAIEH E30ABHEZ=SEUE
8,000,000& = 13| = 97% 7,760
AT ==ZU3 14,550 14,550 0
307 glz2+ol & 14,550 14,550 0
04 QIZFHALAIH E = 14,550 14,550 0
ON183 HFAIZH S=ZUE
15,000,000& * 13| *» 97% 14,550
EFAIEHE BSOS 11,640 11,640 0
307 gl2tol & 11,640 11,640 0
04 DIZHHALALSE 2 X 11,640 11,640 0
ON 143 HZFAIZH BISUS
12,000,000& * 13| * 97% 11,640
EFANEH HAAZ XS 13,095 14,550 A 1,455
307 21201 A 13,095 14,550 A 1,455
04 DIZHHALALSE E X 13,095 14,550 A 1,455
OMM& HFAZH EI0I0HFHHAATIA
JItH 3l 15,000,000& = 13| * 97% * 90% 13,095
EFANZEH RS 7,760 7,760 0
307 21201 A 7,760 7,760 0




- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
04 SIZ2ISHAAIH E & 7,760 7,760 0
O M 103 H=AHEHB =03
8,000,000 * 13| = 97% 7,760
HE=ANEE M XEAHUE 7,760 7,760 0
307 2Iz2to| A 7,760 7,760 0
04 QI2HS A AFQI 2 X 7,760 7,760 0
OM63 HFEAAU AAXEHUS
,000,000€ * 13 * 97% 7,760
H=AZE B2 E 14,550 14,550 0
307 212t0| ™ 14,550 14,550 0
04 SIZ2HSHAAISHE E X 14,550 14,550 0
OHM83l =AUl HH2CHS
15,000,000& * 13 * 97% 14,550
EFANEIXNXNEBEELELE=AUS 7,760 7,760 0
307 2I2t0| ™ 7,760 7,760 0
04 DI2HEH A AFRI 2 X 7,760 7,760 0
OM23a HEFANEIXIKN 2EE=AHUS
8,000,000 = 13| * 97% 7,760
HEANEU S4AYE 02U 3 7,760 7,760 0
307 giztol A 7,760 7,760 0
04 CIZ2tSHALALS B = 7,760 7,760 0
OM73 HZAIZEH SAY 203
8,000,000& * 13| * 97% 7,760
== M= L ANSSH2HS JH = 7,275 8,730 A 1,455
307 2iz2tol A 7,275 8,730 N 1,455
04 OIZ2tSHAFALS B = 7,275 8,730 AN 1,455
Os=2Y =2 L AIESRAUE Nz XK
1,500,000& » 53 * 97% 7,275
SAXE A2 s32UE 40,000 0 40,000
307 2Iz2t0| A 40,000 0 40,000
04 SIZ2ISHAAISH E & 40,000 0 40,000
©2021 8HAIXE MHeld s2U3
40,000,000& = 13| 40,000
XX E2ARAHAEY 14,550 14,550 0
307 212t0| & 14,550 14,550 0
04 SIZ2ISHAFAISHE E X 14,550 14,550 0
OHM113l 2021 X 8= AFHA HAEY
15,000,000& * 13| * 97% 14,550
XX =2 =. 0.0 3tH3=sT3 24,250 24,250 0
307 QI2t0| ™ 24,250 24,250 0




EM MERS
g MME &S
gelr d2Hs |4 X

= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
04 DI2HHALALSE E X 24,250 24,250
ORM152 XX = SO0 303 s7U3
25,000,000& = 13| » 97% 24,250
FEMGH) M2 .4 U= 38,800 38,800
307 glz2tol & 38,800 38,800
04 DIZHHALALSE E X 38,800 38,800
ON183 HIMHMN]| MIAILEHIZUSE
40,000,000 = 13l = 97% 38,800
318 H=0ItEW S 17,460 17,460
307 21201 A 17,460 17,460
04 DIZHHALALSE E X 17,460 17,460
OMb558 3.12 = OttEU3
18,000,000& * 12| » 97% 17,460
HIAHHLISELAAUE 14,550 14,550
307 21201 A 14,550 14,550
04 QIZFHALAIH B = 14,550 14,550
OHN553 8= Ld=SEL+=AUH
15,000,000 * 13 * 97% 14,550
SIS RU d3203 19,400 19,400
307 glz2tol & 19,400 19,400
04 QIZFHALAIH B = 19,400 19,400
OM192 =S 20 8=zl
20,000,000& * 13 * 97% 19,400
EFAXNIHNHAATZ S A=A 48,500 48,500
307 glz2+ol & 48,500 48,500
04 QIZFHALAIH E = 48,500 48,500
OM162 H=XHX ZMHAAEI S
50,000,000& * 13| » 97% 48,500
FE2J HA=2REUS 240,000 240,000
= 120,000
Al 120,000
307 glz2tol & 240,000 240,000
< 120,000
Al 120,000
04 DI2HHALALSE E X 240,000 240,000
ON133 HEI H2ZR=UI
240,000,000& * 13 240,000
< 120,000
Al 120,000
S ZHf MEt=E AFANLE=AUE 14,550 14,550
307 21201 A 14,550 14,550




EM MERS
g MME &S

g4 d2Hs 84 XY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
04 DI2HHALALSE E X 14,550 14,550 0
OHM21a8 2/ &t &= AFHANL=HU S
15,000,000& * 13| * 97% 14,550
d=4d0 =St 2203 14,550 0 14,550
307 glz2tol & 14,550 0 14,550
04 DIZHHALALSE E X 14,550 0 14,550
OHM32s d2EHNH =& L3U3
15,000,000& * 13| * 97% 14,550
= 2lg oFRUs 77,600 0 77,600
307 21201 A 77,600 0 77,600
04 DIZHHALALSE E X 77,600 0 77,600
©2021 EFAXI| H=2cS0rUHE
80,000,000& = 13|  97% 77,600
HdaBER= t0=0UE 4,850 0 4,850
307 21201 A 4,850 0 4,850
04 QIZFHALAIH B = 4,850 0 4,850

2 KMKAIZ 12 & 8=5&
*

|
S=0t0F=0iti2l 5,000,0008 * 1%

97% 4,850

NYRS P |y 6,941,179 6,917,966 23,213

201 Yer2 | 173,445 159,369 14,076

01 At 22l H] 665 665 0

OSS® ¥R ¥ N0 25 BHY

70,0009 * 1074 * 95% 665

02 B2 166,780 152,704 14,076
ONFYSSHIR =429 52,680
o®Jl= 90,0008 * 1S * 1% 1,080
OSAAE 80,0008 * 105 « 128 21,600
ozl 250,008 * 10% » 12® 30,000
OHAE VBUSE 29 6,600
O®EIIB 180,0002 » 128 2,160
O4st4+E2 20,0002 * 122 240
oANgE 350,008 * 122 4,200
OBFZEANAY MEE 24,600
OYEFA2{ (AHAFBZ)  1,500,0008 * 128 8,000
OFONQI A2 (AHAFS ) 350,0008 « 128 4,200
o®EIIB 100,008 * 128 * 244 2,400
ORHABHSE 2Y 10,800
0L 500,008 * 122 6,000
O4st+=z23 50,0008 * 122 600
OANgE 350,008 * 128 4,200




FAM: HENSDH
M MIHME AE
g4 d2Hs 84 XY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OSMRE=A(SE2SEU) 3323
600,000& = 12& 7,200
omMasgsy 249 1,236
o&IJIe3 50,000& = 123 600
O&dt=ER23 20,000& = 12& 240
Os4ldl 33,000& = 123 396
OAEEAUY 2RI (SSL2ELIUEL)
150,000& » 12& 1,800
Ost=aHY3 Y| 3,000,000& * 6&= 18,000
O HZH(LZ, BE AAR) 1,814
OHUS® 9163 * 2204 = 30 = 3E 1,814
ozs=s MEXE AZHI
1,2753 = 64 = 25¢ 1004 » 123 22,950
ozss dEXE XSIAM 60,0008 = 1004 600
O=2s® dsxd B2 750,000& = 10CH 7,500
OSSSHSINY BAMLLLD
50,000& = 1004 23l 1,000
O=A & 28 FAEH
1,000,000& * 100H £ 10,000
03 A2 Z Hl 6,000 6,000 0
OXNHE2SIINT atef & M
,000,000& = 13 6,000
206 M= Hl 267,450 267,450 0
01 = Hl 267,450 267,450 0
O 28 EHES & FH| 50,000
Ostat 5 258 40,0003 * 258 = 50& 50,000
OSc® =& & FIIES 33,600
Edst & 63 800,000& * 68 » 7& 33,600
OZER =HES & ZHl 26,000
O=k s 138 40,0004 = 138 = 50& 26,000
OHAER =& & AIES 21,600
OHAET=E S 128 60,0008 » 128 » 30& 21,600
ONZEIZZER =& 2 HIIES 6,250
O&ZJIst & 58 25,000& * 5& * 50& 6,250
OFM AHAR =& 2 FHH| 20,000
O&E & 108 40,000& = 108 = 50& 20,000
OUWIL=R 2dEE & &l 50,000
Osta & 263 40,0003 * 253 = 50& 50,000
OLEANAE EHES & FHl 60,000
O&E s 308 40,000& = 308 = 50& 60,000
301 LEEAZ 6,498,184 6,486,047 12,137
00zsca - 2528432 6,498,184 6,486,047 12,137
oRss® HE(d=E) 3,755,700




2N
X ZH -
L= B

el

=1t

s =

= oS

d2Hs 54 N

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
ozs 61,800,000& * 6™ 370,800
oz= 55,500,000& * 3H 166,500
O=2X 52,500,000 * 4Y 210,000
O=2ZX 48,300,000& * 2H 96,600
OEd oy 42,000,000& ~ 1H 42,000
OH = 65,100,000& * 4H 260,400
O = 55,200,000& * 5% 276,000
Oz 45,900,000& = 109 459,000
O = 42,000,000& = 35%Y 1,470,000
Od % 33,300,000& * 494 133,200
O = 49,200,000 * 2™ 98,400
Od % 45,600,000& = 3H 136,800
OHldgEx =2ddH2

500,000 * 6Y = 12& 36,000
ONE2SsEIIR E8NExY 48,000
oz=s 300,000 * 9H * 12& 32,400
O=2ZX 150,000& * 8Y = 128 14,400
OEdolyd 100,000& * 1 = 128 1,200
o228 =&l 568,800
Oz=4Alt] 540,000& * 79¥ = 128 511,920
(@ =2=1:] 35,000 » 79Y x 12& 33,180
O2+AH] 25,000& = 79Y¥ * 12& 23,700
(OFSPARSI=N:] 70,000 » 79Y * 30 165,900
ota &N 60,000& » 799 * 103 * 6L 284,400
OYAatLAZ 1,000,000 = 30& * 103 300,000
oO=2JtEXE 126,000
ox= 500,000 * 6Y = 12& 36,000
OH = 500,000& * 124 = 12& 72,000
O=2X 250,000& * 6 * 12& 18,000
O e A2 180,000,000& * 13l 180,000
OMEE= S 20,000& = 79 » 12& 18,960
OdAEX=A L MAHUS =IOt
30,000,000& = 43| 120,000
oOX&E2sEIR ¥FEENMNE 29
1,000& * 900P * 79H 71,100
OXNE2EHIIE MXHH B2 720,324
OE&AZ 3,755,700,000& * 1/12 312,975
OH2LEE 3,755,700,000& * 3.335% 125,253
O&IAEE 121,309, 110& * 10.25% 12,435
O=30d=82=2 3,755,700,000& * 4.5% 169,007
ONEsEEsfE2
3,755,700,000& * 1.65% 61,970




25 M2
M2 AFSA

el d2H

=)
s a2
s =4 12

SN BA(SA) - MRAY - BES il HImEET
Outt Mol 2AEE =
3,755,700,000& * 1.03% 38,684
OENLZR L= 14,000
ogsgts s 108 200,000& = 108 » 74H 14,000
O=s4&S Il=Hl 22,000
Ogs=s s 63 200,000& * 65 » 11H 13,200
OlttE3 S 88 100,000& » 88 = 114¥ 8,800
OZc & =l 11,200
ogsts s 88 200,000& = 88 ~ 7 11,200
OdER 1= 15,400
ogsts 8 78 200,000& = 7& = 11 15,400
OHAZ =R I=Hl 16,000
ogsts s 88 200,000& = 8% = 10 16,000
ONHEEZZE 1O =Hl 9,600
Ogs=s s 88 200,000& = 88 ~ 6 9,600
OFAIZ S I =Hl 12,800
OMZ=E S 88 200,000& = 85 = 89H 12,800
OUWXL=ZF Il=Hl 14,000
ogs= s 108 200,000& = 108 » 74H 14,000
OLEHAIA S Tl =H| 24,000
OMZ= & 105 200,000& * 1085 » 12Y 24,000
405 TtakH S| 2,100 5,100 A 3,000
01 AL EFH S 2,100 5,100 A 3,000
OEH? =4 E8 1,300
OF=1¥| 650,000& = 204 1,300
OWHXALZR =4 25 500
Ooges 500,000& * 1CH 500
olgzds =3 300
OXZE LD 300,000& = 1CH 300
FHME 4 XA 1,094,617 1,028,645 65,972
J| 119,784
< 44,669
Al 930, 164
ZOHQ M= 2435t 737,963 707,149 30,814
gIztold 737,963 707,149 30,814
02 IZHE M AHEE 263,426 255,129 8,297
OZMQ MEMsE 28 29 XN
41,000,000& = 13l * 97% 39,770
O E7us 24
25,000,000& = 104+ 97% 24,250
OHM153 dIHMMSMHM=U =d
7,000,000& = 13l = 97% 6,790




S
X

=

=

MY E sS4 N

CHB S (BH) - NRAY - BES 0 4t 04 il
OM133 HE2dMsUHz &
5,000,000& * 13| * 97% 4,850
oOs=s0otolstitsd=sla &8
5,000,000& * 13l* 97% 4,850
OHM41e d=2FMAM=UZ &=
24,000,000& = 13 = 97% 23,280
OHM153 Es&HMNMAZUM=UL &2H
50,000,000& = 13 * 97% 48,500
O&d=20U3 &Il =&Hl XA
15,000,000& * 13 * 97% 14,550
0O8=s4E 258 428 A&
15,000,000& * 13 * 97% 14,550
OOl L4M% S& X
500,000& = 8H * 5& * 97% 19,400
O AZ=x HELL 29
4,000,000& * 97% 3,880
OFMHOIMEMNFXNEX HRMEAL(BESEX
Hl, 230, B2 S) 58,756
odzx4¢ 4,243,000 4,243
o=2s52Y 9,600,000 9,600
OFHZAY| 140,000 » 7Y x 12& 11,760
(@F=FSE=l 5] 200,000 * 74 = 23] 2,800
SNETES=
8,720& *« 7 = 15AI2F = 12& 10,988
O X2 AHH| 59,320& » 7H *» 5 2,077
O MYl 70,0008 * 79 ~ 12& 5,880
O=2UWodl 20,000& » 79 x 20 2,800
O4UEE s 8,608,000& 8,608
03 QI HE2IHEx 474,537
OFFA HUHCAES 24 474,537
(OPIF== 266,565,000& 266,565
o= 50,230,000& 50,230
O=cl=MH] 117,402,000& 117,402
OUSH=EKNEUE 8,660,000& 8,660
OJ|&2gR2F=&H| 2,400,000& 2,400
OB ZHFHAH| 3,600,000 3,600
Ol 9,300,000& 9,300
Oogetedy| 16,380,000& 16,380
HEAED 4O MIA2BZAS 7,760
307 QI2t0| ™ 7,760
04 QI2SHALAIE E = 7,760
OM73 H=AMEI| O IA=ZUF
8,000,000& * 13 * 97% 7,760
HFAEI HOHO MEXNE &RUS 7,760




AN HELSH
=X

M AN HE AE
Sl B S4 X (ol @)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
307 2Iz2to| & 7,760 7,760 0
04 SIZ2ISHAAIH E & 7,760 7,760 0
OHM123 HEF=AI&D| HOQ MEHSF &FRUHS
8,000,000 * 18] * 97% 7,760
HEFANED HOHQ MENE 203 7,760 0 7,760
307 212t0| & 7,760 0 7,760
04 SIZ2ISHAAISHE E X 7,760 0 7,760
OHM12a HF=AIED| HOQ MEHT 2=U I
8,000,000& * 13 * 97% 7,760
HEANEDI i E2UE 11,640 11,640 0
307 2I2t0| ™ 11,640 11,640 0
04 CIZ2tSHALALS B X 11,640 11,640 0]
OM11a H=AZEI OO =043
12,000,000 = 13| * 97% 11,640
HE=ANAI HOHC HOIESUSE 11,640 11,640 0
307 QI2t0| ™ 11,640 11,640 0
04 CIZ2tSHALALS B X 11,640 11,640 0
OHM9g HFAIEI HOHC HOIESUI
12,000,000& * 13| * 97% 11,640
HE=ANEI =012 =8 U3 5,820 5,820 0
307 2iztol A 5,820 5,820 0
04 QIZ2tSHALALS B = 5,820 5,820 0
OHM63 HZAIEI =00 =33l
6,000,000 * 13| = 97% 5,820
X AZ2H0HQ HHECIE AT 21,340 0 21,340
307 2iz2to| A 21,340 0 21,340
04 SIZ2ISHAAIH E & 21,340 0 21,340
OHM11a &2X I =20 HHEUE a3
3| 22,000,000& * 13 * 97% 21,340
MXH =& E=U3F 21,340 21,340 0
307 2Iz2t0| & 21,340 21,340 0
04 SIZ2HSHAAISH E & 21,340 21,340 0
OHM11a &Xgl =2&0e E2=03
22,000,000& * 13 * 97% 21,340
XX M=2ZE0HQ AF2 T3 19,400 19,400 0
307 212t0| & 19,400 19,400 0
04 CIZ2tSH ALALS B X 19,400 19,400 0
OHM33 ZXHH 8=2Z0H2 A2 T3
20,000,000 = 18 = 97% 19,400
AMXH M= NEAHQ L StME =AM 12,610 0 12,610




- _ _ RE]
M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
307 2Iz2to| & 12,610 0 12,610
04 SIZ2ISHAAIH E & 12,610 0 12,610
OX5s HA HINHZ0 L YL 57
tHal 13,000,000 * 18] * 97% 12,610
SO MEH F X S A BHXI 204,624 211,176 N6,552
J| 102,312
= 40,925
Al 61,387
307 2Iz2t0| & 204,624 211,176 N6,552
Dl 102,312
= 40,925
Al 61,387
02 DIZIEAAIE E X 204,624 211,176 N6,552
OHMAME M= HiXI
51,156,000 * 43| 204,624
J| 102,312
= 40,925
Al 61,387
OOl AEZXBISHAIY K& 24,960 24,960 0
J| 17,472
o 3,744
Al 3,744
301 et ™M= 24,960 24,960 0
J| 17,472
o= 3,744
Al 3,744
01 AISIE& A %52 24,960 24,960 0
OFOMR AZLXAZ 0|2 XS
24,960,000 24,960
J| 17,472
= 3,744
Al 3,744
MEN =S 243t 3,161,595 2,867,625 293,970
J| 925,004
= 101,330
Al ,135,261
AT XHISHAIY X & 584,600 481,120 103,480
J| 409,220
o= 87,690
Al 87,690
301 et M= 584,600 481,120 103,480
J| 409,220
o= 87,690
Al 87,690
01 Al E& A %52 584,600 481,120 103,480
oAZ=2X 0|l2d &
146,150,000 * 43| 584,600




AN HELSH
= AIMNS

g A
0 0loh

Cel: MEBXK 243 (S5 &)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 409,220
< 87,690
Al 87,690
U (ML )ME =SS B X 426,048 422,352 3,696
J| 204,624
< 5,040
Al 216,384
307 gl2tol & 426,048 422,352 3,696
J| 204,624
< 5,040
Al 216,384
02 It M AHE X 426,048 422,352 3,696
OLBHMEX I XX Hi X
106,512,000& * 43| 426,048
J| 204,624
< 5,040
Al 216,384
HEAMMUN MEHSX =X X 304,320 301,680 2,640
J| 146,160
< 3,600
Al 154,560
307 glz2tol & 304,320 301,680 2,640
J| 146,160
< 3,600
Al 154,560
02 It M AHE X 304,320 301,680 2,640
ONZAMEH IS HHX
76,080,000& = 43| 304,320
J| 146,160
< 3,600
Al 154,560
ANZEEX S X X dH X 30,468 30,468 0
307 21201 A 30,468 30,468 0
02 It M AHE L 30,468 30,468 0
OFFANMEMNESXNEA BIXI(HY)
7,617,000 = 43| 30,468
daHs 84 IH 361,413 342,090 19,323
307 21201 A 361,413 342,090 19,323
02 It S AT EL 361,413 342,090 19,323
OM31e =SH=2E MEHMEUH &H
85,000,000& * 13| » 97% 82,450
02021 SE=ETXNMI L TEIFI dEH=S
EgU3 =d 26,000,000 = 13| * 97% 25,220
02021 &M= S8 d=03 =&
10,000,000 * 13 * 97% 9,700
ON163 SH=T 24 MUSUHE &=H
20,000,000 * 13 * 97% 19,400




miE=ni

=

? M=

=

=

mw ™
0 0loh

st

= — SHE|
CHE - EI(BA) - NRAY - BYS e Hl D= 2t
©2021 EFA0H2E2ZZINE AI2E N
2,000,000& = 97% 1,940
OHN22s SH=Z M= SUSR HE0I=
s =d 4,000,000& = 13l = 97% 3,880
02021 S=ENSSHLH =H
7,000,000& = 13l = 97% 6,790
02021 HEHMSK X (25Y) MMM (E
249, AIAY, BREI S)
209, 123,000& 209,123
02021 EFAMSE 420 /IS
3,000,000& = 13| » 97% 2,910
A F AMUALSE At 365,690 404,490 238,800
307 glz2+ol & 365,690 404,490 /38,800
02 QB HAANGEEE 365,690 404,490 238,800
O=2UME100 EFHHASHE 2L (MEAE
2 BE=2) 10,000,000& * 97% 9,700
02021 HdEHsWY 2
360,000,000 * 97% 349,200
odEl=s=us == uiH
7,000,000& = 97% 6,790
X100 EFMEASHYH 2 206,250 0 206,250
J| 165,000
Al 41,250
gIztol & 206,250 0 206,250
J| 165,000
Al 41,250
QB A AHE X 206,250 0 206,250
O=2XHH100 EFHMEUASHEH 2
206,250,000 206,250
J| 165,000
Al 41,250
M=aA X2 77,600 87,300 A 9,700
307 glz2+ol & 77,600 87,300 A9,700
04 DI2HHALALSE E X 77,600 87,300 A9,700
OM=&A X 10,000,000& * 83 * 97% 77,600
EFANAESEI MEHE S2EUH N2 39,285 39,285 0
307 glz2tol & 39,285 39,285 0
04 QIZFHALAIH B = 39,285 39,285 0
OF=AEIH) MENS SILUS XA(25
3l) 40,500,000& = 97% 39,285
EEEXNAD & TSI MEMEUHE S 19,400 19,400 0
gIztol & 19,400 19,400 0
QI APALS B 2 19,400 19,400 0




AN HELSH

M MIHME AE
chelr MEHS 248 (S5 &)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
02021 SESEXAMI & SEIFEI HEH=S
S=2EU3 KX 5,000,000& = 43| = 97% 19,400
SEsHsz dMstial N3 9,700 0 9,700
307 gl2tol & 9,700 0 9,700
04 DIZHHALALSE E X 9,700 0 9,700
oco=sHsAH=s3 MsUa XA
5,000,000& = 23| = 97% 9,700
AN MEHs S0 11,640 11,640 0
307 21201 A 11,640 11,640 0
04 DIZFSHALAIRI B X 11,640 11,640 0
ORMB8al H=AZEI MEM=E E2U3
12,000,000 * 13 * 97% 11,640
HFAED MEH=s HOE=SUHSE 5,820 5,820 0
307 21201 A 5,820 5,820 0
04 QIZFHALAIH B = 5,820 5,820 0
OM7sl HFAZEI MEHM=E ANOESUHE
6,000,000& * 13l = 97% 5,820
EFAED MEHs 8&72U3 9,700 9,700 0
307 glz2+ol & 9,700 9,700 0
04 QIZFHALAIH E = 9,700 9,700 0
OHMBsl HFAZEI| MEH=s §F1US
10,000,000& * 13| *» 97% 9,700
EFAED HEHE SJ1cUHs 5,820 5,820 0
307 glz2tol & 5,820 5,820 0
04 DI2HHALAISE E X 5,820 5,820 0
OHMB8al HEFAFI HaH= SIEUHa
,000,000& * 13| * 97% 5,820
EFANEI MEH=S O 9,700 9,700 0
307 gl2tol & 9,700 9,700 0
04 DIZHHALALSE E X 9,700 9,700 0
OHNBsl HFAIZEI| MEHME OFFUE
10,000,000& * 13| * 97% 9,700
FFANFI MEHE S2U3E 7,760 7,760 0
307 21201 A 7,760 7,760 0
04 DIZHHALALSE E X 7,760 7,760 0
OM73 H=AZEI HEM=E E2U3
8,000,000& * 13l » 97% 7,760
FFAED MEHs Od2E=ZUHS 7,760 7,760 0
307 21201 A 7,760 7,760 0

04 QIZHEHALALE B £ 7,760 7,760 0




AN HELSH

g MME &S
A

e MEHs 243 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OM73 EFAIEI MEH= D223
8,000,000 * 13| * 97% 7,760
HFANED MENE d=2MHAZ22H012 U3 5,238 5,820 A 582
307 2Iz2t0| A 5,238 5,820 N 582
04 SIZ2HSHAAISH E & 5,238 5,820 A 582
OMB83 HFAIADI MEHs d2IHZ22H0/E
CHEl 5,400,000& * 13| * 97% 5,238
HEAED MEHMS HLAWUE 8,730 8,730 0]
307 212t0| & 8,730 8,730 0
04 CIZ2tSHALALS B X 8,730 8,730 0
OM73 HF=AXI MEHF HLAUS
9,000,000& * 13| * 97% 8,730
HFEAED MEHNSE 2AH3 7,760 7,760 0
307 QI2t0| & 7,760 7,760 0
04 CIZ2tSHAPALS B = 7,760 7,760 0
OM63 HFAIED MEHE SAUI
8,000,000& * 13| * 97% 7,760
HEANED MEHSE HELIEHWH S 14,550 14,550 0
307 gizto| A 14,550 14,550 0
04 QI2HSAFAFRIE X 14,550 14,550 0
OM73 HEFAIEI MEHYR HESIEHUHS
15,000,000& * 13| * 97% 14,550
HEANED MEHE 22U 5,820 5,820 0
307 2iz2tol & 5,820 5,820 0
04 DIZHEHALAFRI B X 5,820 5,820 0
OM73 HZF=AADI MEHNT =F2US
6,000,000 * 13| * 97% 5,820
HFEALSH MEMHE 0AHEFTLHLUS 6,790 6,790 0
307 2Iz2t0| & 6,790 6,790 0
04 QIZFH AL AR 2 & 6,790 6,790 0
OMB83l HF=AIXU MEMNSE OAHBEF=L M
3| 7,000,000 * 18] * 97% 6,790
HEANAH MEMS HHHLIACSE 5,238 5,820 N 582
307 212t0| ™ 5,238 5,820 AN 582
04 SIZ2ISHAAISHE E X 5,238 5,820 AN 582
OMB83 HFAIXU MEHNE HHAHLAUS
5,400,000& * 13| * 97% 5,238
HEANSH MEME 20U 5,820 5,820 0
307 QI2t0| & 5,820 5,820 0
04 CIZ2tSHAPALS B = 5,820 5,820 0




EM MERS
g MME &S
Helr dMEHs 245

= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
OMB8al HFATH MEaHE F2UE
6,000,000& = 13| = 97% 5,820
BFA MEH=SUHS 82,935 82,935 0
307 gl2tol & 82,935 82,935 0
04 DIZHHALALSE E X 82,935 82,935 0
ONB8zal HFAl dEMSU
85,500,000& * 13| » 97% 82,935
BFA MEMSHAZE SO SH 7,760 7,760 0
307 21201 A 7,760 7,760 0
04 QIZFHALAIR B & 7,760 7,760 0
OHMB8al HFA HEMSHAHZE SO =H
8,000,000& * 13l » 97% 7,760
FFSH2EX 08 EF NS d2U g 13,095 14,550 A 1,455
307 21201 A 13,095 14,550 A 1,455
04 QIZFHALAIH B = 13,095 14,550 A 1,455
02021 EFS42&X Jlg = NES &
Ch3l 13,500,000 * 13 * 97% 13,095
Al 1-213 39,770 39,770 0
307 glz2tol & 39,770 39,770 0
04 QIZFHALAIH E = 39,770 39,770 0
©2021 E=Al 1-2l2(63l)
41,000,000& = 97% 39,770
=23 HEE 10,000 10,000 0
< 5,000
Al 5,000
307 glz2tol & 10,000 10,000 0
< 5,000
Al 5,000
04 QIZFHALAIH 2 = 10,000 10,000 0
©2020 =8 W& A 10,000,000& * 1%l 10,000
< 5,000
Al 5,000
AN HAYEAME MIFAUS 43,650 43,650 0
307 21201 A 43,650 43,650 0
04 QIZFHALAIH B = 43,650 43,650 0
OHM125 X B2 HIHH d==F7U3
45,000,000& * 13l = 97% 43,650
X FAYTNH @F MEMS BHEALESHUS 21,825 21,825 0
307 glz2+ol & 21,825 21,825 0
04 QIZFHALAIH E = 21,825 21,825 0
OHM73 XX HIAUTHH 2Z MEHS HHE
QIE T3 22,500,000& * 13| * 97% 21,825
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g MME &S
A

oo dEXs 245
= _ = s
A - ER(EN) - AR - B of & o4 e
AN, ALY d=0l=HL AU 9,700 9,700
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